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(Needless Transmission Deferment) (A) IEEE802.11DCF employs RTS/CTS (Request To Send/Clear To Send) mechanism for mitigating effect of hidden terminals．The RTS/CTS mechanism sets transmission deferral timer to neighbor terminals by exchanging RTS and CTS between transmitter and receiver．Then，in the case that RTS/CTS exchange succeeds，effect of hidden terminals could be suppressed，otherwise，any neighbor which received RTS and/or CTS defers its new transmission needlessly although DATA packet corresponding to the previous RTS/CTS exchange will not be transmitted．(A) In DCF, a transmitter S sends RTS to a receiver R in order to prevent transmissions from hidden terminals. However, the RTS may collide with a packet from a hidden terminal at the R and R will not return CTS to the terminal S when the hidden terminal I  transmits any packet in parallel with the RTS transmission of terminal S. Then, terminals Xs set needless NAV(RTS) although RTS/CTS handshake among the terminal S and the terminal R is missed. Can you offer a scenario which will cause needless transmission deferment due to RTS. (B) Do you have a solution to solve this needless transmission due to RTS. (C) Offer a scenario which will cause needless transmission deferment due to CTS. (D) Can you offer a solution for this needless transmission deferment due to CTS.
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